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import random
def main():

# step one: initialize starting point for $$

# this is outside the for loop so it happens once

money = @

for i in range(50):
# step one cont'd: gather data by rolling two dice and saving values
# this is inside the for loop so,we_roll the dice over and over again
rolll = random.randint(1, 6) :§

s3

roll2 = random.randint(1, 6)
# step two: computations. figure out how much $$ we added
# to_the pile from the current roll
if rolll < roll2:
= money + 2

' rolll == rollz:r\/

money = money +

if rolll + roll2 >= 10: 4

money = money + 20

# another computation - .if we add the values together and > 6
if rolll + roll2 > ('3:\/‘1
money = money + 5

# step three: communicate. Report the dice values each time
# (inside the for loop)
print("Dice were", rolll, roll2)

# step three cont'd: communicate the total amount of money
# after all rounds are completed (outside the for loop so it
# happens only once)

print("And now we have... $", money, sep = "")
main()
\. Q{ Khon Lisvs

=

S\ (& we eed kD remondser o

ot vawes A ab ona?

—— oL \Ral

?aw 20k
(vwg e S

- Hanm@r& s do W
fags sl
- Yo maun & o olle 22
GS 8,3
&S 437
- Uiy Lones Ivuppen
iy

mm,ca! zO0
oo & 3t el

Lot

“AA 7a’\£A,..~f V\i)'* PYZAP{: :S:I)

R ubles

o St L3 Ghec Lot



lst= 150 4, 9, 2,143 (watl s 5 vztees
& \ 2 3 Y positicn s
how S0 vse 2 U%&Z- {
) \gr= L3
C(\C&‘\( \S‘\' = Y—Zc (-\l 6I $‘1
. Kddwmkw,tg o\ 23
\s 20pd (\&) 2.9, ¢,5,1<)
— ok 2 o vawe I
\sr121 T

— logc 2% 2L vadnes

[

Num = 2 B Sh()f\‘CJ'V‘ \,) |
: N poteel
n:::;: S Hmed
,\ -
NemM=
Nun = 10
\Packion | \&r =11
. an\g\/ USU“ "VF ¢nt VEr= \n¥ (A‘\pu’r('u \/V\M(?o\\3>
. 2dat 0 2 Lisk Lex ~ append (var) Yo
e o
. pACEYT TS & O ks c
d‘Sdc}\ (O Coat- Ef [?
U in czge (OO°
VEr= v (mpjarC“ e 0 D)
(e~ 2ppend (V)
Z""‘t e e,
o | 2 q 3




o Qrgk oo @ (D 0TS :
. zdd Yo Ligr i& aren \ & []
‘QDC L N (ngg C\o’)',
var= (n¥ Canpr (" PPATAD)
\'e Vil % D ==0-

(e~ 20 (vor)

X Q. ‘ﬁlx.%*(xﬁf

1Y 0&@%‘5 Azka : nsults Lrom dia 6'sz

M Uz,muua, Lsv (Ommh - SegHaktd. eSS
(2w an Exel Qe ‘“3

&zo, . ek ok irfteqes ﬂ
b vz el YW' e
o< 8&'”\1" d/(u.vv\(l\tq.c%v

"‘A-me\é’n’v»us (e & even?
’M% fves 15 § > (o7

L> fow = a6l adlene)  Hap b oy b el
g (S % S«\'ﬂ‘f\o)ﬁ

Lot = rw.s@ut(“,“) ¥ spir tums 2 srvrrla] o
Lick OF sb'l'/zP

7= Q\ﬂ\' (ﬁS\’ 29'1> 3 Sass DWW AY PD&‘(T(/\ A
> (0t



